2. Convert 30°C to the Fahrenheit scale.
1. Convert 40 °C to the Fahrenheit scale.
Solution:
Solution: Step I: Multiply the number of degree by 9. .
Step I: Multiply the number of degree by 9.
= 4073 =30°% 9
= 360° = 2?0-1
Step II: Divide the prOdUCt by 5. StED II: Divide the prﬂduf.—t hﬂ'r 5.
=360°+5 =270° + 5,
=72° - 54°
Step Ill: Add 32 to the result. Step IIl: Add 32 to the result.
=72+32 =54+32=86"F
- 104°F Therefa
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°C = °F re, K
—lheceioce A0 C2104 v\
Conversation )

Formula O
| o %
{C=1{5/9) or 0.556 [F -3 "(
W5 a0e

The stEps of converting from Fahrenheit to Celsius are reversed here.

Step | Subtract 32 from the degrees,
Step Il Multiply the result by 5,

Steps Il Devide the product by 9.




